




According to the quantum superposition model, what will happen 

if we remove the middle screen with the two slits?

A) Nothing, the pattern of hits will remain the same

B) The photons will now all hit the screen at the same place

C) The photons will still hit at various locations, but the pattern of 

hits will be different.

D) The photons will no longer hit at specific locations, but will be 

absorbed in a more diffuse way, distributing their energy over a absorbed in a more diffuse way, distributing their energy over a 

larger region.
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We know that each photon is spread out enough to go through both 

slits. The slits change how these spread out photons move, so if 

the slits aren’t there, the photons will still be spread out, but in 

a different way. Thus, we expect that the photons will still hit 

the screen at various specific locations (this is part of the 

quantum superposition model), but in a different pattern.










